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ALGORITHM 49

A. ADRABINSKI and J. GRABO WSKI (Wroclaw)

AN ALGORITHM FOR SOLVING
THE MACHINE SEQUENCING PROBLEM

1. Procedure declaration. The procedure OPTKOLOBR finds a se-
quence of machine operations such that the total time spent for processing
all operations is minimal. A detailed description of the mathematical model
is given in papers [3] and [4].

Data:

k — number of machines;
I — assumed number of iterations of the algorithm;
k

me¢ — number of operations, it is equal to 3 N,;
i=1

t — number of ordered pairs of operations corresponding
to the technological requirements (see [3]);
bool — Boolean variable with value true if an initial solution
is given and false otherwise;
¢T'[1:me¢] — array of operation times; the array contains, in loca-
tions 1, 2, ..., N[1], the operation times of machine
No. 1, and in locations N[i— 1]+ 1,..., N[4] those
of machine No. ¢ (+ = 2,3, ..., k);
N[1:k] — integer array containing in N[:] the number of
operations which are to be carried out on machine ;
RTP, RTK[1:t] — integer arrays containing the ordered pairs of op-
erations corresponding to the technological require-
ments of operation order RT (see [3] and [4] for
details); the predecessors and successors are con-
tained in the arrays RTP and RTK, respectively;
8P, SK[1:ret] — integer arrays containing the pairs of operations
of the initial solution (see [4]);
INF — maximum positive number of real type.

Results:
LNC[1:mc] — array of the earliest starting times of operations for
the optimal operation sequence;



524 A. Adrabiriski and J. Grabowski

pxecedure OFTKOLOBR(k,1,mc,t,bool,c?,N,P,kTP,RTK, SP, SK, LNC,
1RG, Lg, FIN, INF);
Yalue ¥,mc,cT;
dntezer k,1,mc,t;
zeal g, INF;
integer array N,RTP,RTK,SP,SK;
SLIaY P,OT,INC,LR.G;
Bagleay bool;
dabel FIN;
Rezin
Jntezer 1,J,m,m1,m8,n,p,puJ,7,8,R,APj, AKJ,APZ], aK2 ] ,APp;",
AKpj,Rob1,Rob2;
Leql maex,M;
Boolean FJ,2F3, I3
dntezer arxay Blismel;
APjssR:=mds=0;
Lor 1:=1 giep 7 until k do
Regin
p:=N[1];
APJ:=APj+p;
mds=px(p-1)+md
end i;
APJs=APJ-k;
md : =md+2;
Im$ =mo-Hne ;
ni=m+2;
Lor 1:s1 gtep 1 unidl me do
begdn
fox J:=1 gtep 1 untdl t do
if RTP(j1=1
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then g9 o E;
R:=R+1;
B{R]s=1;

Z: end i
p:=t+R+md;
ms:=m+p;

m1s=m+1;

bezin

inteser array AKT,APT,AK,AP[1:m],pul1:m1],AKz,APz,AKD,
APp, Sgp,Sgk[1:md],C[1:n],A,DLT,H,HU,Kp[0s1],DLT1(1s1],PL

1:1,1:md];

array Lox,Loxpr,Ilxz,Ixzprl{1:n),ddt[1:1],0(1:m];

procedure CPM(pu,AP,AK,Lox);
arrgy Lox;
intezer axray pu,AP,AK;
kezin
inteser i,3,k,u,APJ, AKJ,puds
Ieal maex;

Booleal arxay swli:nl,sul1m];

us=0;
for 1:=1 gfep 1 unidl n do
kezin
swlile=sulils=trye;
pufils=
end i;
for i:=n+1 gtep 1 wntdl m do
Regin
suli)s=true;
pulils=0
end 1;

525
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for k:=1 gtep 1 uniil n do
kegin
for i:=1 gtep 1 untdl n do
if swilil
lhen
kezin
for j:=1 shep 1 umatdl m do
it AK[j]=£
then
kegin
if swl[AP([j]]
then =20 1o nexti
elge
if sulj]
then
Regin
us=u+l;
suljl:=falge;
pulul:=pujs=j;
mex:=Lox[AP[pujl];
if ruj>p
then max:=max+c[pujl;

AKj:=AK[pujl;

if I

then

kezin

-if max>Lox[AKj]
then
hegin
Loxpr[AKjJl:=Lox[AKj];

-
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Lox[AKj ]:=max;
C[AKj]:=puj
end meax>Lox [AKj]
else
if max>TLoxpr[AKj]
then Loxpr[AKj]:=max;
g0 g E1
end I;
if max>Lox[AKj]
then Lox[AKj]:=max;
Bl end sulj]
end AK[jl=1;
sw[il:=falge;
g9 1o nextk;
nexti: end swl(il;
nextk:end k
end CPM;
8:=0;
if bool
then 2o 1o 74;
puj:=0;
for j:=1 gfep 1 uniil k do
hegin
APJ:=N[j1;
AKj:=APj-1;
for i1:=1 gtep 1 until AKj do
Regin
r:=i+puj;
foxr APzje:=i+1 gtep 1 until APj 4o
kegin

8 — Zastosowania Matematyki 15.4
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ss=s+1;
AKp[s]::Asz:=2xr;
AP[s]:=APz[s]s=AKzj+1;
AX[s]:=AKz[s]:=APpj:=2x(APzj+puj)y
APpla]t=APpj+1;
cls]:=0.0
end APzj
end 1;
puj : =puj+AFj
end Js
g0 %o 22;
Z41puj:=APJ;
APj:=AKj:=APz]:=1;
AKzj:=N[1];
Z3sfor §:=AKj ghep 1 uatil AKzj do
becin
for i:=1,i+1 while ispuj do
if sk[il=j
Lhan g0 o 213
APpJs=0;
r3=N[APzj]-1;
Lo 1:=1,1+1 while APpj<r do
if SP[1]=]
then
begin
AKpjs=AP3+APpJ;
Sgp[AKpjls=J;
Sgk[AKpjls=j:=SK[1];
APpj:=APpJ+1;
i:=0
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end 1;
for i:=1 gtep 1 untll APpJ do
begin
st=8+1;
AKpJ:=i+APJj-1;
AP[8]l:=APz[s8]:=2xSgp[AKpj1+1;
AK[s]:=AKz[8]s=2xSgk[AKpj];
APpl[eli=AK[8]+1;
ARp[s]:i=AP[8]-1;
r:=0;
c[s8]:=0.0;
for ri=r+1 nhilg rsAPpi-i do
kegin
si1=8+1;
AP[g]:=APz[s]t=Rob1:=AP[s-1];
AK[8]3=AKz[s]s=Rob21 =2xSgk [AKpj+r];
APp[s]:=Rob2+1;
AKp([s]s=Rob1-1;
c(slt=0.0
end r (
end 1;
AKpJs=APz];
APzj1=APzj+1;
iL APzj>k
then go %o 22
AKpj:=N[AKpjl;
AKJj:=AKj+AKpJ;
APJs=APj+AKpJ-1;
AKzj:=AKzJ+N[APzj];
80 1o 733
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Z1: and J;
Z2:for 1:=1 gten 1 watil ¢ do
kezin
s:=8+1;
APT[8]):=AP[s]:=2xRTP[1]+1;
AKP[8]):=AK[8]:=2xRTK[1];
c[sj£=0.b
end 1;
for 1:=1 gtep 1 wntil R do
bezin
si=8+1;
APT[g]:=AP[s]t=2xB[1]41;
AXT[s]:=AK[s]:=n;
c[s]:=0.0
end i;
for i:=1 giep 1 until me do
bezin
g:=8+1;
APT[a]:=AP[s]s=pujs=2xi;
AKT[s]:=AK[s]:=puj+1;
cls)s=cT[1]
end 1;
puje=0;
for i:=1 gtep 1 untdl k do
kegin
M:=P[i];
APj:=N[1];
fox j:=1 gtep 1 untdl APJ do
kezin |

B8:=8+1;
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APT[8]:=AP[s]):=1;
AKT[s8]:=AK[8]):=2x(j+puj);
cls]e=M
end J;
pujs=puj+APj
end 13
H[1]+=HU[1]):=pu[m1]:=0;
ri=gi=1;
Lg:=INF;
for j:=1 giep 1 until md do
kegin
P[1,31:=0;
Sgpl3le=APz[j];
Sgk[jls=AKz[j]

end Js;
krok1:
for j:=1 gstep 1 until md do
hegin )
Rob1:=F[r,jl;
Fj:=Rob1=0;

zFj:=Rob1=1;

APT[j):=if FJ then O elme if 2FJ ihen APz[j] alse APp(

il

AKT[j]:=if Fj ihen O else if zFj then AKz[j] else AKpl

3l
end Js
foxr js=2 glep 1 uniil n do
Lox[jls=-1.0;
Lox[1]:=0.0;
CPM(pu, APT, AKT, Tox);
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if Lox[nlzlg
theny
kegin
Alr]:=Alr-1];
2Q %g krok4
end Lox[nlzlg;
for J:=1 gtep 1 uniil n do
kezin
Lox[jl:=loxpr[jli=lxz[j)s=Ilxzpr[jls=-1.0;
C[jl:=0
end Js
Iox[1]:=Ixz[n]:=0.0;
I:=trye;
CPM(pu, AP, AK, Lox);
I:=falge;
Lfor j:=m gtep -7 uwniil 7 do
beedn
pujs=puljl;
AP3:=AP[pujl;
maxs=Lxz [AK[puj 1];
if puj>p
then max:=max+c{pujl;
if max>Ixz[APj]
then
kezin
Ixzpr[APj]s=Ixz[AP] ];
Ixz[APj ]s=max
end max>Ixz[APj]
else
if max>Ixzpr[APj])
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then Ixzpr[APj]:=max
end J;
max:=Lox[n];
if le>max
then
kezin
Lgs=max;
for j:=1 giep 1 wntil md 4o
Regin
Sepljle=AP[3];
Sgk[jl:=AK[j]
end J;
R:=r
end Leg>max;
Al0]:=0;
APj:=Kp[r]:=1i:=0;
puj:=Clnl; .
fox j:=0 while APj#1 do
bagin
&L pujgmnd

Sheay
hegin
ig Flr,pujl=0
ihen
Regin
l1=i41;
APzJ3=APz[pujl;
AKejemAKz[pujl;
APpJieAPp[pujl;
AKpJa=AKp[pujl;
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AKjs=A[r-1]41;
if AKj=1
then g9 1o koniec1i;
DLT1[AKJ Js=puj;
a1t [AKj Js=Loxpr[AKzj ]+Ixzpr[APzj ]-Lox [AKpj J-Lxa[
APpj ]
end Flr,pujl=0
eud pujsmd;
APJ3=AP[puj];
pujs=C[AP}]
end J;
Kplrls=i;
APzj:=0;
Alr)s=Alr-1])+1;
if i=0
then g to krok4;
krok3:
pujs=Kplrl;
if puj=0
ihen gao tg krok4;
Me=INF;
si=8+1;
foxr j:=1 step 71 untll md do
Fls,3ls=Flr,jl;
APj:=Alr];
for ji=Alr-11+1 giep 1 until APj do
if a1t[j1dImP
then

hezin
max:=d1lt[j];
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if max<M
‘hen
bezin

Msz=max;

1:=DLT1[3];

DIT[r]):=j
end max<i
end J;

Fle,1]:=-1;
AP[1]:=APp[i];
AK[i]):=AKp[il;
H[ls]:=r;
HU[g]:=1;
ri=8,

&2 1o kroki;

krok4:

pujs=H[r];
if puj=0

Ihen gg 1g koriec2

i:=HU[r];
ri=puj;
puj:=Kp[r];
Kp[rl:=puj-1;

d1t[DIT[r]]:=INF;

Flr,i]:=1;
AP[1]:=APz[1];
AK[1]:=AKz[1];
g9 %o krok3;

koniec1:

APzjs=-1;

535
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koniec2:

£or J:=1 giep 1 uniil md 4o
kezin
AP[J]:=5gp[§];
AK[3)s=5gkl3];

end Js

for j:=1 gtep 1 unilil n do
Lox[j]:=Ixz[j)s=-1.D;

Lox[1]):=Ixz[n]:=0.0;

CPM(pu, AP, AK, Lox);
for J:=m glep -1 untdl 1 do
kegin

pujs=puljl;
APjs=AP[pujl;
max:=lxz[AK[pujl];
il puj>p
them maxi=mex+c[pujl;
if max>Ixz[AP]]
See ILxz[APJ])s-max
end J;
‘for Js=1 gtep 71 unidl me do
hagin
puji=p+J;
AP3v=AP[pull;
AKj:=AK[pujl;
M:=Lox[AP3];
maxs =M+c [puil;
LRG[)]:=1g-max-Ixz[AKJ];
LNC[j]s=M
eud 33
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if APzj=-1
tben g0 g FIN

end
end OPTKOIOBR

LRG[1:me] — array of total time reserves in the optimal operation
sequence;
Lg — value of the total time spent for processing all operations;
FIN — label outside of the body of the procedure OPTKOLOBR
to which an exit is made if the assumed number of itera-
tions 7 is smaller than that required by the algorithm.
Remarks.
(1) If bool = false, then the initial solution is generated by the pro-
cedure OPTKOLOBR; the method has been presented in paper [2].
(2) ret is the number of disjunctive arcs of the initial solution. It is
not a parameter of the procedure OPTKOLOBE. This number may be
calculated as follows:

k
ret = ZrNi—k or ret = me—k.
t=1

The number of iterations of the algorithm has to satisfy the ine-
quality
K —8t—14md —45mc—60

<
t md+8 ’

where parameters ¢, 1, me are as described above,

k
1
md = — M N(N;—1),
1=1

and K is the number of memory cells which can be used by the parameters
of the procedure.

2. Method used. The algorithm uses the method from papers [3]
and [4] finding a minimaximal path in the disjunctive graph. The test
step of the algorithm is based on paper [2].

3. Certification. The procedure OPTKOLOBR has been verified on
the ODRA 1204 computer with 16K core memory for many examples.
For all examples it has started from the initial solution generated inside
the procedure OPTKOLOBR. The computational results are listed in
the following table:
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Number

of iterations Time Source
me k l performed’ by Lg .

the procedure (in sec) of example

! OPTKOLOBR

6 2 100 12 31 22 Balas [1]
8 3 100 16 55 41 Fig. 1 (1
13 4 100 25 13 . 175 Balas [1]
15 5 100 3 13 36 Fig. 2
22 (2) 5 110 110 408 1642 Fig. 3
25 (2) 5 90 90 395 1272 Fig. 4
30 (2) 3 30 30 267 - 206 Fig. 5

(*) In Figs. 1-5, numbers above arrows denote the operation number, and
those below arrows denote the processing time of operation.

(?) The solution is suboptimal (the assumed number of iterations ! has been
exceeded). ’

MACHINE I MACHINE II MACHINE Il
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ALGORYTM 49

A. ADRABINSKI; J. GRABO WSKI (Wroclaw)

ALGORYTM ROZWIAZANIA ZAGADNIENIA KOLEJNOSCIOWEGO

STRESZCZENIE

Procedura OPTKOLOBR znajduje minimaksymalng droge w grafie dysjunk

tywnym.
Dane:

bool

e¢T'[1:me]

Ni1:k]

RTP, RTK [1:t]

8P, SK [1:7et]

INF

Wyniki:

LNC[1:me]

LRG[1:me]

Lg
FIN

Uwagi:

liczba réznych maszyn;

liczba iteracji algorytmu;

liczba operacji;

liczba par operacji, wyrazajacych wymagania technologiczne
porzadku operacji;

zmienna logiczna; ma ona wartosé true, jezeli istnieje rozwigzanie
poczatkowe, i false w przeciwnym wypadku;

tablica czaséw wykonania operacji; ¢T'[1] - ¢T[N[1]] — cza-
gy wykonania operacji na maszynie 1; ¢T'[N[I1]+ 1] = ¢T[N [2]]
—czasy wykonania operacji na maszynie 2; itd.;

tablica liczb operacji; N [¢] — zawiera liczbe operacji, ktoére
beda wykonane na maszynie i;

tablice zawierajace pary operacji, ktore wyrazaja wymagania.
technologiczne porzadku operacji RT; tablica RTP zawiera
numery poprzednikéw kazdej pary operacji, tablica RTK za$
numery nastepnikéw kazdej pary operacji;

tablice zawierajace pary operacji, ktére wyrazaja rozwigzanie
poczatkowe (patrz [4]);

maksymalna dodatnia liczba typu rzeczywistego.

tablica najwezeéniejszych momentéw rozpoczecia operacji dla opty-
malnej kolejnosei ich wykonania; LNC [j] — najwezesniejszy moment.
rozpoczecia operacji j;

tablica ogélnych rezerw czaséw wykonania operacji; LRG[j] —
wartodé ogdlnej rezerwy czasu operacji §;

wartodé calkowitego czasu obrébki wszystkich operacji;

etykieta skoku z procedury OPTKOLOBR, jezeli liczba iteracji 7
jest mniejsza niz liczba wymagana przez algorytm.

(1) Jezeli bool = false, rozwigzanie poczatkowe gencrowane jest wewngtrz
procedury OPTKOLOBR; metoda otrzymywania tego rozwigzania podana jest
w pracy ([2].

(2) ret jest liczba lukéw dysjunktywnyech rozwiazania poczatkowego. Nie wyste-
puje jako parametr procedury. Mozna ja wyznaczyé nastepujaco:

k
ret = Zl\’i—k lub  ret = me—k.
i=1

Liczba iteracji algorytmu powinna spelniaé nieré6wnosé

K — 8t — 14md — 45mec — 60
l< ’
md -+ 8
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gdzie i)fu'ametry t, 1, mc maja znaczenie jak opisano powyzej,

1& -
md = <> ZNi(Ni— 1),
i=1
.a K jest liczbg komoérek pamieci, ktére moga byé uzywane przez parametry procedury.
Obliczenia kontrolne, wykonane na maszynie cyfrowej ODRA 1204, wykazaly
‘poprawnosé procedury OPTKOLOBR.



